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SECTION |
This sectinn containg 25 guestions

1. How many integers, grostor Lhan 999 but not greater than 4100, can be formed with the digits
3, 1, 2, 3 and 4, if repetition of digits 15 allowed?

{1} 495 {2) 50d {3) 375 {4) 376 {3) 501
2. What is the mumber of distinet wrms in the sxpansion of {a+ b+ 177
(1) 231 (2) 253 (3) 242 {43210 (5) 228

Directions for Questions 3 and 4:

The figure below shows the plan of a lown. The streets are at right angles w cach olher, A
reclangular park (P) ig situated inside the town with a diagonal rood rumning through it. There is
alsc a prohibited region (1) in the town,

A C
To —

IR | B

3. Neelam rzdes her bicycle from her house at 4 to her ofTice at 8. taking the shortest path. Then
the number of possible shortest paths that she can chioose is

{1) 6 (2375 {3} ﬁj {4y B0 (5) 72

4. Neelam rides her bieyele rom her house at 4 to her club at €, via T wking the shortest path.
Then the number of possible shartest paths that she can choose is

(1) 1170 {2) 630 (3) 792 (4] 1200 {3 926
5. Consider a right circular cone of base radius 4 cm and height 140 em. A eylinder is to be

placed inside the cone with onc of the Nat surfaces resting on the base of the cone. lind the
largest possible wal surface area (in sq cm) of the cvlinder.

100 Bl 120 13 LtOm
1 2} — 3 4) 5
{1) . (2] 3 B3y — (4] 3 (3}
6. Whal arc the lasl lwo digits of 7 7
{1y 2t (2] 61 {3) 01 {4) 41 {3181
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7. In a triangle ABC, the lengths of the sides AT snd AC equal 17.5 cm and 9 em respectively.
Let D be a pomt on the hine scgment B such that Al is perpendicular to BC, If AD = 3 aim,
then what 1s the radius (in cm) of the circle circumsenbing the trnangle ABC?

(13 17.05 (2) 27.85 (3) 22.45 (4) 3225 (5) 26.25
1+i+l I I+l;£+ +'II—- 1 b 1
8 Find thesum Y 2 22 22 gz A g apne?
(1) 2008— . | (2) 2007 - —- (3) 2007 - —
- 7. 2007

2008 YT 2008

] ]
4) 2608 - (5) 2008— -
@ 2007 ) 2009

9. A shop stores x kg of rice. The first customer buys half thiz amouant plas half a kg of rice. The
seeond custamer buys half the remaining amount plos half a ke ot rice. Theu the third customer
also buys half the remaning atnount plus hatl a ke ol fee. Thercalier, no tiee 15 lelt in the shop.
Which ot the following best describes the value of &7

{(1)2=x=6 {2) 5=x =8 (N e=x=2l2 {$Hllex=l4 {5)13=x=18

Directions tor Questioos 10 and 11:

Let f{x)= ax” | bx i ¢, where ¢, b and ¢ are cortain consmants and & =0, It is known that
F(Sy=-3f(Nand that 3 s a rontof f{x)=10.

L0, What s the other root ol f(xy - 07
(-7 {2y -4 (532 {416 {53) cannot be determined
L, Whatis the valueof a+ b+

(1) @ (1) 14 (3313 {4) 37 {3) cannot bz determinad

12, The number of commen lerms o the twoe sequences 17, 21, 25,..., 417 and 16, 21, 26,...,
46 18

(1] 78 (2) 19 {3} 20 (477 (5122

13 Let fix)be a lunction satisfying F{2) F () f{xv) forallreal o IT F(2)— 4. then what
is the value nf F{11"

% (3} ; (411 {3} cammud be determined

(130 (2)
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14, 1f the rools of the cquation x” — ax* + hx—¢ =0 are three consecutive integers, then what is

the smallest possihle value of A7

1 o 1
{1} =— 2) 1 30 41 (5] —=
N {2) (3) (4] A

Directions for Questions 15 and 16:

Wark (1) if ) can be ansoeered from A alome but not From B alone.

Mark (2) i Q can be answercd froom B alone but not from A alone,

Mark (3} 16 ) can be answered from A alone as well as from B alone.

Mark (4) it O can be anawered from A and B together bul nwl from any of them alone.
Mark (5)if Q cannot be answered even from A and B together.

In a single elimination foumnament, any player i eliminated with & single [oss. The tournament

is played in multiple rounds subject 1o the following rules;

{z) It the mumber of players, say a, in any round is even. then the players are crouped in 1o #f2
pairs. The players in each pair play a match aganst each other and the winner moves o Lo
the next =ound.

(b} I the mumber ol players, say ». in any round is odd, then onc of them is erven g bye, that s,
he automatically moves on to the next round. The remaining (n-1) players are grouped inio
(r-1)/2 pairs. The players in each pair play a match against each other and the winner moves
on W the next round, No player gets more than onc bwe in the entire tournament.

Thus, it # is even, then 72 plavers move on to the next round while i€ 2 Js ocd, then (a+1)/2

plavers move an w0 Lhe next tound. The process is continued 1] the final round, which abviously

is played between two plavers. The winner in the final round is the champion of the umament,

13. Q: What is the number of malches played by the champion?
A: The entry list for the tonmament consists of 83 players,
B: The champion received one bye,

16, (: If the rumber of playens, sav », in the frst round was between 63 and 128, then what 1s
the cxact value of #7
A Exactly vne player received a byve in the entire toumament.
B: One player received a bye while moving h o the fourth round from the third round

e

17 The integers 1, 2. ..., 40 arc wrilten on a blackhoard. The following operalion is then
repeated 39 unes: Ineach repetition, any tws mumbers, say @ and &, cucrentl v on the blackhoard
are erased and a new number -1 & -1 is written. What will be the number left on the board ar
the end?

{1y 820 (2} 821 (3) 781 [4) 819 (5} 780

I8. Consider a square ABCD with midpoinis E, F, G, IT of A B, BC, CD and DA respectively.
Let L denote the line passing through F and H. Consider points P and €, on L and insiide ARCD,
such that the anglus APD and BOC both equal 120%, What is the ratio of the area of ABQCDP 1o
the remmnning area inside ABCD?

442 - M—T% 1
2} 2- A3 3) — ¥ (4) 1+ —
3 (2] (1) g 4] 5

(5} Z+1% -1

(1}

7 333




19. Consider obluse-angled trisngles with sides 8 cm, 15 em and x cm. 17 x 15 an ieger, Lhen
how moany such triangles exise?

{1} 5 (2) 21 (3) 10 (4) 15 (5) 14

20, Thres consecutive positive miegers are maised to the first, second and third powers
respectively and then added. The sum so obtained is a perfect squarc whose square root equily
the total of the three onginal integers, Which of the [ollowing hest describes the minimmam, siy
m, ol these thres integers?

M1=m=3 (B 4=m<6 (3 T<m=o M= m=12 (5} 13€m<ls

Dircctions for Questions 21 and 22:

Five horses, Regl, Whike, Grey, Blyék and Spotted participated in a race. As per the rules of the
race, the persons betting on the winning horse get four times the bet amouut and those bettng on
the horse that came in sccond get thrice the bet amount, Moreuver, the bet amount is retumed to
those betting on the horse that camc in third, amd the rest lose the bet amount. Ragn hets
Rs.3000. Bs.2000 and R4.1000 on Red, White and Black horsus respectively and ends vp with
no profic and no loss,

21. Which of the following cannot be truc? é@o :_,,If.--

{17 Al least two horses nished betore Spoted
{2) Red finished last
{3} There were tlires horses betwean Black and Spotted «
—+47 There were three horses between White and Red
_45) Grey came in second

2. Suppose, in addition, it is known that Grey came m fourth, Then which of the following
cammol be true?

(1} Spoteed came in [irst

(2) Ted finished last

{3) While came in sscond

{4) Black came in seeond

(5) There was one horse between Back and While

23, Two circles, both of radii 1 em, intersect such that the circumlvrenue of each one passes
{hrough the centre of the other, What is the area (in sy cm) of the inlersecting region?

a 3 In A3 dn A3 4 p SRRVE)
(1) T_3 iy Qi (3 _I_£ (4) _E.;.ﬁ i5) LE]
3 4 3 2 3 2 3 2 3 F:
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24. Rahim plans to drive fom gity A to station C, al the speed of 70 km por hour, to catch a train
aroving there from B. He mwst reach C at least 15 minutes before the amival of the train. The
train leaves B, located 300 km south of A, ul 8:00 am and travels at a speed of 50 km per hour. Tt
is known that C is located between west and nordrwest of B, with BC ot 60" 1o AB. Also, C ix

located between suuth and southwest of A with AC at 30" to AR, The Fatest time by which Rahim
st Jeave A and still catch the tryin is closest to

{1)6:15 am {2630 am {3} 6:45 am (4) 7:00 am {51 7:15 am

25, Suppoese, the seed of any positive inteper » iz definsd as follows:
seed{n)—a, 1M = 10
— seed(s(n)), otherwise,
where s{#) indicates the sum of dipits of ». Tior example,
seed(7) — 7, soud(248) — seed(2 + 4 + ¥} = seed(14) - seed( 1 + 4) = seed(3} - 5 ete.
Huw many positive inlcgers 1, such that s < 500, will have seed(n) — 97

(1) 39 (272 (3) 81 (4) 108 (5) 55
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SECTION IT
This section conlains 25 guestions

Diirections for Quesiions 26 to 28; Answor the following questions based on ihe infbrmalion
given below,

There are 100 empleyees in an organization across tive depuriments. The ol lowing table gives
the depariment-wise distribution of averape age, average basic pay and allowances, The gross
pay of an employee is the sum of histher hasic pay and allowances.- "

epartment humberof |  Awverage Average Basic Allowances
i Employees | Age {Veury) Fay {Rz.) L {%% uf Basic Pay)
HR _ 5 45 ET 70
- Marketing 30 35 G00 30
Finance 20 B 6300 al
Business Development 35 2 7500 73
Maintenatce 10 35| 5500 30

There arc limited oumbers of employees considered for transfer/promotion across depariments.
Whenever u person is taoslered/promoted from a department of lower average age w g
department of higher average age, hefshe will gel san additional allowance of 10% of hasic pay
over and above histher current allowance, There will not be any change in pay structure if a
persen is transierred/promaoted from a department with highur average ags 10 a department wath
loraver averape nge.

Questions below are independent of each other,

26, There was a mutual transfor of an cmpleves between Marketing and Finance depariments
and transfer of one cmployee [rom Marketing 10 HR. As a result, the average ape of Finance
department increased by one year and that of Marketing department remained the same. What is
the new average age of HR depuriment?

{1330 {2) 35 {3140 (4143 {5) vannaot ba detecrmingd
27. What 15 the approximate percentage change in the average gross pay of the [TR dupartment
duc fo transfer of a 40-vear old person with basic pay of Rs 8000 [rom the Markoling
department”

(1) 9% (2) 11% (3) 13% (41 15% (5H17%

28, 11 two employees {sach with a basic pay of Rs.6000) are ransterred from Mainterames
department to ITR departrient and ore person {(with a basiz pay of Rs.8000) was transferred
from Markcung department to HR deparlment, what will be the percentape changs n avernge

basic pay of [TR department?

(17 10.5% (2)12.5% (33 15% (4) 300, (3) 0%
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Diirections for Questions 2% to 33: Answer the following questions based on the information
given helow;

Abdul, Bikram and Chetin are three profossional truders who trade in shares of a company XYZ
Lid  Abdul follows the strategy of buying at the opening of the day at 10 am and selling the
whole lot at the close of the day at 3 pm. Bikram fellows the strategy of buying at haurly
intervals: 10 am, 11 am, 12 noon, 1 pm and 2 pm, and selling the wholz lot at the close of the
day. Further, he buys an equal number of shares in each purchase. Chetan follows a similar
pattern as Bikram bul his strategy is somewhal different, Chetan's total invesiment amount i 15
divided equally nmong his purchascs. The profit ot loss made by cach investor is the dillerence
between the sale value at the close of the day less the investment in purchase. The “relum” for
Gach nvestor is defined as the ratio of the profit or loss 1o the investment amonnt expressed as o
porocntare

29 Which ome of the following staterents is always true?

{1) Abdul will not be the one with the minimum retarn
{2) Retum for Chetan will be higher than that of Bikram
{3} Return for Bikram will be higher than that of Chetan
{4) Rctlumn for Chetan cannot be higher than that of Ahdul
(5 none of the shove

30. Omn a1 “boom™ day the share pricc of XYZ Lid. keeps rising throughoul the day and peaks at
the close of the day, Which trader got the minimum rechom on that day?

M‘Eikrum {2) Chetan  (3) Abdul  (4) Abdul or Chetan  (5) cannot be determined

3. Om a day of fluctuating market prices, the share price of XYZ Lid. eods with a gain, i.e., it is
higher at the closc of the day compared to the opening value, Which trader got the maximum
roturn on that day?

{1} Bikram Qféhutﬂn (3) Abdul  (4) Bikram or Chetan {5} cannot be determined

One day, two vther traders, Dune and Emily joined Abdul, Bikram and Chetan for trading in the
shares of XYZ Ltd. Dane Lllowed a strategy of buying equal numbers of shares at 10 am, 11
am and 12 noon, and selling the samc numbers at 1 pm. 2 pm and 3 pm. Emily, on the other
hand, followed the strategy of buying shares using all her money at 10 am and selling all of
themn at 12 noon and again buying the shares for all the moncy at 1 pm and again selling all of
them at the ¢lose of the day at 3 pm. At the close of the day the following was observed:;

1. Abdul lost tnoney n the lmnsactions.

1. Both Dane and Emily made profils.

fii. There was an increase in share price during the closing hour compared 10 the price at 2 pm,
iv. Shars price at 12 noon was lower than the opening price.
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32, Which of the [pllowing is necessanly [aise?
(1) Share price was ul ils lowestal 2 pm

) Share price was art its owest at 11 am
(1) Share price at 1 pm was higher than the share price at 2 pm
{4) Share price at 1 pm was higher than the share price at 12 nuon
{5} nume of the ahove

3. Share pricc was al its highest at

{1y 10 am {2} 11 am {3) 12 noon (4) 1 pm

Cl4

(5} carmot he determined
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Directions for Questions 34 to 37: Answer the tfollowing questions based on the information
given below;

‘The bar chart below shows the revene reccived, in million US Dallars (USDY, from subscribers

o a particular Internet service. The data covers fhe pariod 2003 to 2007 for the United States

{US} and Europe. The bar chart also shows the estimated revenues from subscriptivn to thiy
service (o1 the period 2008 to 2010).
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3. In 2003, sixty percent of subscribers in Europe were men, Given that women subseribers
ncrease al the ratc of 10 percent per anmmim and men at the mte of 5 percent per anoum, what is
the approximate percentage growth of subscribers hetween 2003 and 20118 in Burope? The
subseription prices are volatile and may change each vear.

(1) 62 (2) 15 (1) 78 (4) 84 (5} 50
35. Consider the annual percent change in the gap hetween subscription revenues in the US and
Eurnpc. What 15 the year in which the absolule value of this change is the highest?

L__,.,.-""'
(1} 0304 (2) 05-06 (3) 0607 (4) 08-00 (5) 09-10)

36. While the subscrplion in Europe has been growing stcadily towards that of the US, the

growth rate in Furope seems to be declining, Which of the follvwing is closest ta the pereant
change in growth rate of 2007 (over 2006} relative to the growth rate of 2005 (over 2004)7

(1317 {\ZQII} 3)35 (1) 60 {51100

37. The difference between the estimated subseription in Hurope in 2008 and what it would have
been if it were computed using the percentyye prowth rate of 2007 (over 2{H16), is closcst to;

(1) 50 ()80 . (33 20 (4} 10 (5)0

Cis
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Directions for Questions 38 to 40: Answer the fellowing questions based on the statements
given helow:

fi) There are three houses on esch side of the road.

(ii) These six houses arc laheled az P, Q, B, 8, Tand 17,

(iif) The houses are of different colours, numely, Red, Blue, Greon, Orange, Yellow and W hile,
{iv} ‘The houses are of different heights.

(v) T, the tallest house, is exactly opposite to the Red coloured house.

{vi) ‘I'he shortest house is exactly opposite L the Green coloured house.

{vii) U, the Orange coloured house, i3 located between P and 5.

(viii) R, the Yellow coloured house, is exactly apposite to P

(ix) Q. e Grgen colovred hoyse, is exactly opposite to L.

(x) P, the White coloured house. is taller than R, but shorier than S and Q.

38, Which is the second wllest house?

(P {218 (3110 (43R L&Y cannot be determined
39, What 15 the colour of the f:-'ﬂ,llttsi house?
(1) Red tIZJ/Elge {3) Gireen (4) Yellow {5) none of these
J 40. What is the colour of the hause diagonally upposite to the Yellow coloured house?
\"’fﬁ‘n’him £2) Bluc {3} Green {1) Red {5) nome ol these
g
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Dircetions for Questions 41 to 44: Answer the following questions based cm the information
given below:

In a sports event, six 1ams (A, B, C, I, E and F) are competiny against cach other. Matches arc
scheduled in two stages. Each team plays three matches in Stape-T und two maighes in Stage-T1.
No team plays agains: the same team more than ones in. lhe_event. Mo Ges are permitted m any
of the matches. The observations after the completion of Stuwe-I ?d Stage-IT arc 3 given

below, W
S | LS

Stage-I: o @ “ ”

*  One team won all the three malches. o "F-? . 3 %

*  Two teams lost all the matches. ~ 1 a .

* D lost to A bul won agamst Cand F, % - > o

& Elostto B but won against C and F. 2 .

* I lost at least one match, N

* Fdid not play againat the top team of Stage-I. L

Stage-II;
® The leader of Stape-] lost the next two matchez.
* (M the twu teams al the bouom afier Stage-l, one team won hoth matches, while the
other lost both matches.
* One more team lost both matches in Stage-11,

41, The only 1cam(s) that won both (e matehes in Stage-11 is (are):

(1) B (NE&F (DA E&F (4)B, L & ¥ E;}B&F
42. The teamns that won cxactly two matches in the event are:

(1) A, D&F [:5/1‘::&5 (HE&F WD E&EF  (D&T
43. The team{s) with the most wins in the event is {are):

(PJ’A (A&C (1) F (4) F (DB &F
4. The two teams that defeated the leader of Stage-[ are:

(yF&D (2)E&F (3)B&D (4E & T2 (5K &D

L i
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Dircetions for Queslions 45 o 47: Answer the [ollowing questions hased on the information
wriven below,

Telouam operators get Tuvents from transfer of data and voice, Averago [VENUe receivad from
iransfor of each anit of data 13 known as ARDT, jn the dipgram helow, the revenude received
fromn data ansler as percentage o[ towal revehille roceived and the ARDT in US Doliars (LISD)
are piven for varous coutimes.
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45. Tt is expected that by 20140, revenue fiom datd rapsfer a3 o parceatage of total revenue will
triple for lndia anel doubls for Sweden. Assuine fhat in 2010, the lutal revenue in Tndia 15 1wice
it of Gweden and that the wolume of data sransfer is the same in both the couniries. What is the
percentige INCTease of ARDT in India if there is no change in ARDT n Sweden?

(1} 400% (2) 5504 (3) ROGYS (4) 930% (5) cannot be determined

46, If the total revenue received is the same for the pairs of countries listed in the chaices below,
choose the pair that has approximately the same valume of dala lramsfer.

{1} Philippincs atid Anstris (2) Capada and Peland (3 Germany and USA
{4} UK and Gpain (5) Denmurk and Meuco
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47. It was tound thal the volume of data transter in India is the same as that of Singapore. Then
which of the following statements is tuc?

{1} Total revenue is the sume in both countries

(2) Tolal revenue in India is about 2 times that of Singapore
(3) Total revenue in Indlia is about 4 times that of Singupore
(4) Total revenue in Singapare is about 2 titnes that of Indig
{3} Total revenue in Singapore is about 4 times that of [ndia

Dircetions for Questions 48 to 50: Answer the followiny questions bascd on the information
given below:

1 : For admission to various affiliared colleges, a university conducts a wrillen test willl Four
] different scetians, cach with a maximum of 50 marks. The tollowing table gives the agpresale as
] well as the sectional cut-ofT marks fixed by six diffareat colleges affiliaied 1o the university, A

student will get admission only if heishe gots marks woater than or equal to the cut-otf marks in
each ol the sections and hisher agaregate marks are at least equal w the ageregate cul-oft marks
as specificd hy the college.

| mectional Cat-olT Marks ' Agpregale |
Section A | Section B Seetion C Scotion D Cut-off Marks |

| College 1 v 42 42 42 176

| College 2 45 45 175 .

| Colloge 3 46 171

| Collage 4 43 45 178
Collzge 3 45 43 180

| College 6 ' [ M | 44 178
48. Charlie gol calls from two colleges. What could be the minimum marks obtained by I1iq:|:jn a
seclion? Yae
(10 @) 21 (3) 25 (4) 35 thxat”

49, Aditya did not pet 4 call from even a single college. Whet could be the maximum upprecate
marks obtained by him?

(1} 181 (2) 176 {3) 184 () 196 (5) 140

50, Bhama gol ealls from all colleges. What could be the minimum a geregate marks obteined by
her?

L ]

(¥} 180 (2) 181 {(3) 196 (4} 176 (5) 184
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SECIION I
This section conlzins 40 questions

Divections for Questions 51 to 54: Fach of the follovang questions has a sentence with twa
blanks. Given below each question are five pairs o words. Choose the pair that best completes
the sentence.

51.
The genocides in Bosnia and Rwanda, apart from being mis-deseribed i the most sinister and
___ manngras “ethaic cleansing’, were also blamed, in further hand-washing rhetaric, on

something dark and interior to angd perpetrators alike.
(1} innovarive; communicator (4) exigent; exploilcrs
{2) enchanting: leaders {5} tragric: sulTerers

(3) disingenuons; victims

52,

As navigalors, calendar malkers, and other _ of the might sky accumulated evidence (o
the contrary, anvient astronomers were forced to that cerlain bodics might move i
eircles sbour points, which in tum moved in circles shout the carth.

{1} surutinizers; believe {4} vbservers; concede
(2) observurs; agrec {3) studenis; conclude
{3) scrutinizers; sugpest

53.
Every human being, after the first few days of his life, s a product of two faclors: on the one
hand, there s his endowment; and on the other hand, there is the effect of

environment, including

(1} eonstitational; weaather (4) coonomie; learning

A2} cangenital; education {5} gonetic; pedagoey

(3) personal; climare

54. , _

Exhaustion ol nutural resources, destruction of individeal initiative by governments, control
over mun's minds by central _ of educalion and propaganda are some of the major

evils which appear (o be on the increase as a result of the impacl of seience npon minds siited
by to an earlier kind of world.

{1} lenets; fixalon {4) organs; wadition
{2} aspeety; inhibitions (3) departmants; repulsion
{3) mstitutions; inhibitions
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Directions for Questions 55 10 68: Tn each of the questions, 4 word has becn used in senlences
in which the usage of

in five different ways. Choosc the cplion corresponding to the sentence

the word is ineorrect or inap propriate.
55. Run

(13 [ must yua fast o catch up with him.

(2} Chur team scored 8 oal against the o ot play.
(3} You can’l un oves him like that.

{4) The newly released hook is enjoyihg a popular
(5) This film iz a run-ot-the-mill production.

56, Round

(13 The police fired a round of tear gas sheils.

{2) The shop is {pcated round the comer.

(31 We ook a ride oL the metry-go-raund.

(4 The dnctor is un a hospatal round.

(%) | shall proceed further gnly after you coms round to pdmitiing it

57. Buckle

{13 After the long hilee our knues were heginning tuckle.

{2} The horse swddenly broke inlo a buckle.

(3) Tho accused did not buckle ander police interrogation.,

(4 Sometimes, an carthyuake can imake a bridge backle.

(5) People chould leam to backle up as soon as they gel Lnlo a car.

5%. File

(1) ¥ou will find the paper i the file undar C.

{211 peed 1o file an insurance claum.

(3} The cadels were marching in a gingle Tile.

(4] File your nals hefore you apply nail polish.

(33 When the parade was on, 4 soldier broke the file.
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Directions for Questions 59 to 62: In cach guustion, therg are five sentences. Each senlence has
a pair of words 1hat are italicized and highlighted. From the italicized and highlighted words,
seloct the most appropriate words (A or B) to form corrcel sentences. The semiences are
followed by oplions that indicate the words, which may be sclected o correctly complete the set
ol sentences. From the options given, choose the most dppropriate ane.

59.

Anita wore a beautiful broach(d )?hrouf&f’ B} v the lape] of her jacket

Il you want to complain about the amenitics in your neighbourhond, please meet your
councillor{d)/counselior(B)’

[ wonld like your advicefd)/adviserB) on which Job I should choose,

The last scene provided a ellmacticfd)elimatic() ending 10 the {1lm,

Jeans that fairdAlfarerB) at the hotram are in fashion these divs.

(1) BABAA (2)BABAB (3) BAAAL (4) ABABA (5) BAABA

6. - .

The cake had lats of currﬂ:ﬂ:q‘d}?’mrrunf.v{ﬂ) and o3 in i

It you engage in such exceplivnal{A)exceptionablefB) behavicur, T will be foreed 1o punish
YL

He hus the samc capacily as an adull to consent{AY assemt(B) (o surgical reatment.

The minisicr is m’rfiged[’A)frr;mpeﬂm!rBj o repurt regularly to a parliamentary board.

His analysis of the situation s (4 100 .i'ungufffﬂfz‘l}.&_.g'ﬁ:ﬁ-’fm’{ﬂj.

(1) BBABA (2} BBAAA (3)BBBBA (4) ABBAD (5) BABAR

61,

She managed to bite back the fren 'a:r[i»dj;’cﬂu.-;_tlﬁc[’ﬂ) retort on the tip of her tongue.
He gave an impassioned and velidfA) cogent(B) piea for judicial reform.

Pam nat adverse(4 ) avegsefB) to helping out.

The coupdidiiconp(B) broke away as the train climbed the KL

They hieund (he hells peclipg(Alpealing(B) Tar and wide.

(1)BBABA (2) BBBAB (3)BAABB (4) ABBAA (5) BRRBA

a2,

We were not successtul in dcfu}fng;}I)fd{{fmingfﬂ.l the Crumr’s tdeas,

The students haitedid) bated(B) the instuctor with irrelevant questions,

The foard(4A)/ forde(B) rushed inw (he campus.

The prisomer’s intermentfdjinternmen tB) camc to an end with hiy carly relcase.
The hockey team could nol deal with his wasociable(A) unsocial(B) tendencies.

(I}BABBA (2) BBABB (3) BABAA (4) ABBAB  (5) AABDA
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Directions for Questions 63 to 66: In each of the following questions there Arc 3enlcnces Lhat
form a paragraph. Jdentify the sentence{s) or part(s) ot sentence(s) thul is/are correct in \2nme of
grammar and usage {including spelling, punctuation and logical consistency). Then, choose the
most appropriate opuon.

1o 1549, a poor Bavarian imigrant named Levi Suauss

landed in San Francisco, {aliforniy,

al the invitation of his brother-m-law Javid Stem

owner of dry goonds business.

This dry goads business would later hecame known as Levi Strauss & Compatry.

MoOF~D0

()Bealy ()BandC (3}AandB  (4)Aonly (5) &, Band D

In tesponse to the allegations and condemuation ponring in,

Nike implemented comprehensive changes in their labour policy. ©
Perhaps sensing the rising tide of global labour concems.-

from the public would become a prominent media issue,

Nike sought to be a industry leader in employes relaiions..

TONEFE

{1}Dand E  (2)Donly (3] A and T ($rAaamdD (3B C and E.

Charpes and countercharges mean nirthing

to the fow mitkion who have lost their houne,

The nightmare is far from over, for the go yernpient
is still unable to reach hundreds who are mareoned.
The death count have just begun.

SRl R

(1 Aonty  (2yConly (3 AaudC {4 A CandD (51 D anly

66.

A | did not know whal to make of you.

B Because vou'd hved in India, I assuciate you mote with my parenls than with me.

. And yet you were unlike my cousing in Caleutta, who seem 50 innocent and obedient when |
visited them.

D. You were not curicus about me in the leust.

E. Although you did make effom to meet me.

MAonly ()AandB (3)AandE  (4) D only (5) A amd D
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Digeetions for Questions 67 to 70: Fach of the [ullowing questions has a parmgraph from which
the last senlenece has been deleted. Trom the piven options, choose the senlence that completes
the paragraph in the most appropriate way,

&7.

Most people at their first consultation take g turtive look at the surgern’s hands in the hope of
reassurance, Prospective patients look for delicacy, sensitivity, stcadiness, perhaps unblemished
paller. On’thia hasis, Henry Perowne loses 2 numbcr of cases each year. Generally, he knows
it’s about t0 happen before the patient does: the dovuward glance repeatcd, the preparc
questions beginning to falter, the overcmphatic thanks during the retreat to the door.

{1} Other people do not comemunicate due 1o their poor abservation.

(2) Other patients dow’t like wha they see but are ignorant of their tight to go elsewhers,

(3} But Perowne himself is not concerned.

(4) But others will take their place, he thonghl.

(5} These hands are steady enotgh, but they are large.

. s N

| Trade prolectionism, disguised as concern for the climate, s raising its head. Citing
competitivencss concerns, powerlul industrialized countries an: holding out threats of a levy on

| tmparts ol energy-iniensive products from developing countrics that refuse to accept their

| dermands. The actual source of protectionist sentiment in the OFECD countrics 15, of course, their

current lacklustre economic performance, combined with fhe challenges posed by the rapid

stomeie tise of Chine and 1ndia - wthat order

{1} Climate change 15 evokd to bring trade protoetionism through the hack doar,
(2} OECD countries are laking refige in climate change issues to crect trade barders apainst
these tvwo couniries.
L8} Climate change concerns have vame as a convenient stick to beat the rising rade power af
China and Inclia.
(4) Lretenders of the global economic statys quo are posing s climate change champions.
{5} Today’s climare change champions  aru the perpetrators of global economic inequity.

6Y.

Mattancherry is Indian Jewry's maost famous sclllement. Its prelty streets of pastel colowrud
heuses, connected by tirst-floor paszages and home o the last twelve saree-and-sarong-wearing,
white-skinned Yndian Jows are visiwed by thousands of tourists cach year, Its synagogue, buill in
1568, with a fioor of blue-and-white Chinesc tiles, a carpet given by Haile Sclassic and the
frosty Yahch selling tickets at the door, stands as an mmage of religious tolerance.

A1) Mattancherry represents, therefore, the perfect piciure of peaceful co-existence.
(2} India’s Jews have almost never suffered discomination, except for Furopean colonizers and
gach othet.
(3) Jews in India were always tolerant.
(4) Religicus tolerarnce has always been only a fagade and nothing more.
(3} The pretty pastel strects are, thus, very popalar with the taurists.
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70.

CGiven the culmral and intellestual intcreonnections, the question of what is “Western’ and what
is ‘Eastern’ {or *Indian’) is often hard to decide, and the issue can be discossed cnly in more
digtectical torms. The iagnosis of a thought as ‘purely Weslern” or ‘purely [ndian’ can be very
illusory.

{1} Thouglts are aot the kind of things thatl can I casily categorizod

{2) Though “vecidentahism’ and ‘arientaiism’ as dichotamoeus concepts have found many
adherents,

{3} ‘East is Fastand West is West” has heen a discredited nivtion for a long time now.

(4) Compartmenlalizing thoughts is aften desirahle,

() The origin of a thought is not the kind of tiing (o which ‘purity” happens casily.
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Directinns for Questions 71 Lo 75: The passape given below is followed by a set of live
guestions. Chonse the most appropriate answer 1o each question.

A remarkable aspeet of arl of the present century 18 the range of concents and idvologics which
it embodies. 1 15 almos! tempting o see a pallern amerging within the art [eld - or alternatively
impased upon it @ posieriort - similar 1o (et which exists under the umbrella of science where
the general tenm covers a whole range of separate, though intereonnecting, getvitics. Any
parallelism is however - in this instance at Juast - misleading, A seientific discipline develops
systematically onge its hare fencts have been catablished, named and categorized as convenlivns.
Many of the concepts af modern arl, by contrast, have resulted [rom the almost aceidental
meetings of groups of talentod individuals at certwin Umes, and cerain places The ideas

EP

TAREralil by esC chilice muelings Tind TwoTold consequences. Firstly. & corpus of work would
he produced which, in great pant, romains as a concrete record of the events, Secondly, the ideas
would themselves be dissemimated through many different channels of comnmmication - sceds
that oflen bore fvait in comlests far removed from their generativn, Mot all movements werce
exclusively cohcemed with mnovation, Sunealism, for instance, claimed w embody a kind of
iu_sri_g_hllr.,_x:,-h.ighs;unﬂ_bg present in the art of any perind. This ¢laim has been pencrally aceepled 56
Mat a sixteenth century painting by Spranger of a mysterions photograph by Alget can
legitimately be discussed in surrcalist lomus. Buicfly, then, the concepls of modern art are of
many different (often {undamentally different) kinds and resulied from the exposures of
pairters, sculptors and thinkers 1o the more complex phenomena of the twentieth contury,
icluding our cver increasing knowledue of the thonpht and products of carlier LU,
Dillerent groups of artisis would collaborate in trylug, to make sensc of a rpidly changing werld
of visual and spiritual expericace. We should hardly be surprisad il no ong gronp sucvesded
completely, but achievements, though relative. have been considerabie. Landmarks have been
sytablished » voncrete statements of pasition which pive a pailern 1o a sinadon which could
casily have degenurated inle lotal chaos, Beyord this, new lagguage wols have been croated for
thise who follow - semaniic systems which can provide a springboard for further explorations.

The cadilying of art is oflien critieired. Certainly one can nnderstand thal atists ars wary of
heing piseon heled sineu they are apt o think of themaelves as individuzls - sometimes with
aped reuson. The notion of scli-expression, however, 14 lomgsr carries quile the weight it onee
diel; chjectivity has its delenders. Theve is jrnd reason o accept the iivas codified by artists and
critics, over the pust sixey yeurs on 30, #s having athzined tae status ol independint exisicnes - an
independence which is not withaut its own vame. The sime factor is mmportait here. As an ar
movement shms snto lemporal perspective, 1l.ceasss 1o he. 4 living prganism - becomig, Talben
fossil. ThiS™& Aol o say thar it becumes uscless or uninteresting, JusL as a scicatist can
reconstiuct the life of a prehisteric cuviromment rom the messages codified inte the structure of
4 lossil, so can an arlist decipher whole webs of intellectial and creative posgibility from the
recorded stueture of a “dead” art movement. The ariist can match the creative patlemns
prystallized into this strushire against the pot=atials and possibilitics: of his own time. As TS
Cliot obscrved, no one starts anyihing from seratch; hewever consciously vou may oy o live m
the present, vou are still invelved with a nexus ot behuviour patterns heguenathed from the past.
The origina) and crealive persun is nat somcone who ignores lhese palterns, hut someone who i
able to translats and develop them so that they conform more exactly fo his - and our - present
neads.

71. Many of the congepls of modem ast have been the product of

(13 ideas generated from planned deliberations hetweer artisls, painters and thinkers.
{2} the dissemnination of ideas hrongh the statc an d i1s organiZatlons,
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}“gﬂluci[{r_‘ﬂm interactions among peopls blessed with crearive muse.
{4} patronage by the neh and powerfil that supported arl.
{5} swstomatic investigation, codification and conventions.

T2, In the passage, the word “fossil’ cun be interpreted as

(1} un wd movement that has ceazed to remain interesting or useful.

{2} an analogy [rom the phvsical world to indicate a historiz arl movement,

{3} an analogy fron the physies] world o indicate the barretness ol artistic croalions m the past.

(1) an cmbedded coditication of pro-histone life.

() an analogy from the physical world to indicate the passtng of an era associated wit
TV BT

1 AN Art

73, In the passage, which ol the following similarites betwesn science and art may lead
erromeous conehasions?

) e

-wnal:r‘i“’}i'wr-!11LI'1h i general, include a gamuat of distinet but interconnecting aclivities.
{2 Both have movemenrs not necessarily concerned wilh innovation.

_ ~43) Both depeitd oo collubumiions between mlented individuals,

i (4) Both involve abstract thought and dissemination of tleas.

| (20 Bath reflect conglex prierities of the modem world.

i T4, The remgre o comeepls and ideologics embodied m the art ol the twentieth century is
crplainad by

(1) the exiztenee of movements such as surrealism.

(2) landmarks which give a pattern 1o the art history of #he twentieth century.

(3) new language tools which can be wsad [ur furker cxplorations into new areas.
{4) the tast changing world of perceptial and transcendental understandimg,

{5) the quick exchange of ideas and concepts enabled by efficient technology.

75, The passage uses an observalion by 1S, Eliot to imply that

; « [1) creative processes are not origimal” becavse they always borrow from the past
| < (2 we always cany forward the lepacy ol dhe past,
' = (3) past behaviours wnd thewght processes recreate themselves in the present and get labeled as
i ‘ortginal” or foreative’
() “vriginality” can only thrive ina “arecnhouse’ msulated rum the past biases.
woT innovations” and “ofiginal thinking” interpret and develop on past thowghts Lo suit
L:L]T]Ll_‘m]j':_'ll'iil'}" ]]Eﬁdﬁn
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Directions for Questions 76 to 80: The passage piven below is [ollovwed by a set of five
questions. Choose the most appropriate answer 1o cach yuestion.

T swnmarize the Classic Maya collapse, we can tematively identily live strands. |
acknowleduc, however, that Maya archacologists still disagree vigourously among themselves —
in parl, beeause the different strands exidently varied in imporimes among diflereni parts of the
Maya realm; bevausc delailed archacological studies arc available Tor onby-seme-Mlayarsfies; and
hecHiise it remains przzling why most of the Mays heartland remained nearly emply of

__pepulation and failed 1o reeoser alter the.collapse.and after re-growth of forests.

With those caveats, it appears Lo me that one sirand consisted of population growlh ouestripping
availshle resources: & dilemma similar 1o the one foreseen by Thomas Malthus in 1798 and
bring played oul today in Rwanda, Haiti and elsewhere. As the archacologist David Wehster
succinelly puts it, “Too many farmmers grew oo many crops on (oo much of landscape.”
Componnding that mismatch between population and rusources was the second strand: the
affects of deforestation and hillside erosion, which caused a decrease in fhe amount of useable
farmland al a time when more rather than Jess farmland was needed, and possibly exacerhated
by an anthropogenic drought resulting from deforestution, by soil nulricnt deplation and other
soril problems, and by the strugyle (o prevent bracken fesns from overramting the ‘ﬁi:]r_ls.&

The third strand consisted of increased fighting, as more and mere people fought over fewer
resources. Maya warfare, already endemic, peaked just before the collupse, That is mot
surptising when one reflects that at leagt five milkon people, perhaps many mare, were
crammed inlo an area smaller than the US state of Colorade (104,000 square milesy. Thal
warlare would have decrcased turtier the amount of land available for agricalture, by creating
no-man’s lands bolween principalitics where it was now unsate to farm. Bringing matters 10 a
head was the strand of climate change, The drought at the time of the Classic enllapse was not
the first drought that the Maya had lived through, but it was the most severe. At lhe ume of
previons dronghts, thers were still uninhabited pans of the Maya landscape, and people at a site
attected by drought could save themselves by moving to another site. However, by the lme ol
the Classic collapse the landscape was now full, there was no uscful unoccupied land in the
vicinity on which te begin anew, and the whole prpulation could not be accommodared in the
few arcas that continued 10 have reliable watler suppliss.

Az our filth stand, we have o wonder why the kings and nobles tailed 1o recognize and solve
these seemingly obvious problems wxlcrmining their society. Thewr atienuon was evidently
focused on their short-torm comcerns of emriching themselves, waging wars, erccling
monuments, competing with cach other, and extracling coough [ood from the peasants W
support all those activities. 1.ike most leaders througheet heman history, the Maya kings and
nables did nut heed long-term problems, ingofar as they perceived them.

Finally, while we still have some other pasl societies W eonsider belore we swilch onr attention
co the modern world, we must already be struck hy some parallels belween the Maya and the
pasl socisties. As on Mangareva, the Madya envirenmental and population problems fed o
increasing warfare and civil strife. Similadly, on Haster lsland and at Chaco Canyon, the Maya
peak population numbers were (ollowed swiltly by palitical and social collapse, Paralleling the
eventual extension of agriculture from Easter Island’s coastal lowlands to il uplands, and [rom
the Mimbres fleodplain to the hills, Copan's inhabitants also cxpanded from the Moodplain to
the move fragile hill slopes, leaving them with a lacger population Lo feed when the agricullural
hoom in the hills wenl bust. Like Faster Island chiefs ercotmg ever largur statues, cventally
crowned by pukao, and like Anasazi elite trealing themsclves fo necklaces of 2,000 turgquuise
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beads, Mava kings sought to outdo sach olher with mere and moere immpressive lemples, covered
with thicker and thicker plaster - rominiseenl in fum of the exiravagant conspicuous
consumption by modern American CEOs, The passivily of Taster chiels and Mava kings in the
e of the real big threals to thair secizties completes our list of disquisting parallels.

76. According to the passage, which of the following boest represents the factor that has heen
ciled by the author in the context of Rwanda and Hairi?

(13 Warious ethnic groups competing for land and other resouwrees
(2} Various clhnic groups competing for limited land resources
(3} Various cthoie groaps fighting with cach other

(4) Various ethnie proups competing tor political power

{51 Vanous ethnic proups fighting for their identity

77, By an anthropogeme drought, the guthor means

{1) a drought causad by lack of rains.

{2) a drought caused due wo deforestation.

(3) a drought caused by filure w prevent bracken fems from overrunning the Relds.
{4) a drought caused by actions of human beings.

(5] & drought caused by chimale changes,

78, According to the passage, the drought at the time of Maya collapse had a different impact
comparcd o the droughts carlior because

{1) the Maye kings continucd to he extravagant when commaon people were sufforing.

(2] it happened at the tune of collapse of leadership amony Mayas.

(3] it happened when the hMava population had ecoupted all avaiable land suited for agriculture,
(4] 1t was [ollowed by inlernocime warlare among Mayans.

(3] wreversible environmental degradation led w thus drouwahit,

T According 1o the author, why 15 00 dilleudl 9r explain the ceasons Tor BWlays collapee?

(1} Copan inhabiants destroyed all records of that peried

(2} The constant daforestation and hillside crosion have wiped out all teaces of the Maya
kingeddom,

(3% Archaeological sites of Mayas do not provide any consistent cvidence.

(4} [t has net heen possible to ascertain which of the tactors best explaing as to wiy the Mava
civilization coltapscd,

{33 At least five million people were crammed into a ameall arca

80. Which Tactor has nol been cited as one of the Taelors causing the coflapse of Maya socicly?

1) Environmenlal degradation due b execss poplation

{2% Social collapse dve to excess population

{3) Inereased warlare amonyg Maya people

{4) Climate change

{a) Obsession of Maya population with their own short-term concerns
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Dircctions for Questions 81 to 8B5: The passage given below is followed by a sct ol five
gueslions, Choose the most appropriate answer 1o each question.

Langwage 13 not a conllural artlaet that we leam the way we learn to tell time of how the Lederal
govemment works. lnstead, It is a_distingt picec. ol the~rielosiont-makeyp of our brains,
Language v a complex, specialized skill, which develops in the child spomtancously, without
conscious ellort or formal mstructon, 1y deployed without awareness of its underlving logic, is
qualitatively the same in every individual, and 35 distinet from more general abilities to process
information or behave mtelligently, For these reasons some cognilive scicntists have desenibed
language as a psychinlogizal facully, a memal organ, o neural system, and ¢ computational
module. Bul | preler the admittedly quaint term “instinet”. Tt comveys the iden that people know
how to talk in more or less the sense that spiders know how to spin webs, Web-spinning was not
invented by seme unsung spider genius and docs nat depend on having had the right education
or an having an apuwde for architecture or the conatraction rades. Rather, spaders spin spider
webs because they have spider brains, which give them the urge to spin and fhe competence o
succeed. Although thore are differences between webs and words, | will encourage vou to see
language in this wey, for it helps to make sense of the phenomena we will cxplore.

Thinking of language as an instinet inverts the populur wisdom, especially as iU has been passed
down in the canom of the humanitics and social sciences. Langnage is no more a cultural
invention than is upright posmire. It is not a mamicslation nla pencral capucity o uss svighbols: a
three-vear-cld, we shall see, 1s a_grapmatical genius, but 1s quite incompelent al the visual aris,
religions iconograpley, lrallle signs, and the olher glaples of the semiodes curriculum. Thoush
language i 2 magnificent ability unique to Flome sapiens among living species, 11 does nol call
for sequesiering the stuldy of humans from the domain of bictogy, for a magnificent ability
unique to a particular living species is far from unigue in the animal kingdem, Some kinds of
baty home moom Mying insects using Doppler 2onas. Some kinds of migratory birds navigale
thouzands of miles by calibraung the positions of the constellations against the time of day and
vear. In nature’s talent show, we are simply a species of pimate with our twn acl, a knack for
cormmunicating infimmation about who did what to whom by modulating the sounds we make
when we exhale.

Once you begin to look at language nol axs the ineffable cssence of human uniquensss but as a
hiologcal adaptation to communicare information, 1t 15 no longer as lempling o sce languagc as
at1 nsidious shaper of thought, and, we shall see, it is pot, Moreover, seeing language as one of
namre’s engineering marvels — an organ with “that perfection of struchure and co-adaptation
which justly exciles ouwr admiration,”.in Darwin's words - gives us & new respeel for your
ordivary Joe and the much-muliped English language (or any language). The complexity of
langnage, from the scientist’s point of view, is pari of our biolegical birthricht; it is not
summehing that parenis wach their children or something that must be cliborated in school  as
Oscar Wilde said, “Education is an admirable thing, but it is weil to remember f*am timc to time
that nothing that is worth knowing can be taught.™ A preschooler’s tacit knowledge of srammar
is mote sophisticawsd than the thickest stvle mamual or the most state-of-the-arl computer
langmage system, and the same applics o all healthy man beings, cven the notorious syptax-
fracturing profussiomad athlete and the, you know, like, inardeulate teenage skatchoardoer.
Fnally, since language is the product ol a well-engineersd helopical instines, we shall see that it
is mol the nutty barrel of monkeys that entertainer-col amnists make it out 0 be.

Rl According fo the passage. which of the [ollowmng does nol stem from popular wisdom on
language?




(1Y Language is a cultaral artifact.

{2y Latguape 15 g coliumal inveniion.

(3} Langoags is learnt as we grow.

(4} Lanpuaye is untque to Home sapiens.
anguage 15 a psychologizal Toulty,

82. Which of the (ollowing can be used to replace the “spiders know how ta spin webs™ analogy
as usad by the author?

L AAitlen dearning 1o jump over a wall
W}l Bees collacting nectar
{3} A donkey earryving a load
{4) A horse runming 4 Duerby
~{5) A pet dog protecting its owner's properly

83. According to the passage, which of the following is unique to human beings?

(13 Abality w use symbols while communicating with one anather,

{23 Ability to communicate with cach other through voice modulation,
{3) Ability t communicate information to other members ol the specias,
{4) Ability 1o use sound as means of communication.

#5340 of the above.

84, According to the passage, complexity of langoage cannot be taught by parents or at school to
children beeausc

{1} children mstinctively know language.

W2¥Children leam the lansmage on their own.

{3} language is nol amenable Lo teaching,

{4} children kmow language better than their teachery or parents,
{5} children are bom with the knowledge of semniotics.

85, Which of the [nllowing best sumimarizes the passage?

{1} Tangoage is nnigque to Home sapicns.

{2} Language is neither leami nor taught.

{3} Language is not a cultural invention or adifact as it is made out.
v} Language is instinctive ability of human beings.

{5) Language s use of symhbols uniqué to human beings.

——
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Directions far Qucstions 56 to %; The passage given below is followed by a ser of five
questioms. Choose the most appropriate answer W cach question,

When | was hittle, children were bought twa kinds of ice cream, sold from these white wagons
with canopies made of silvery metal: sither the two-cent cone or the four-cent ice-cream pie.
The two-cent cone was very small, in facl it couid tit comfertbly into a child’s hand, and it was
made by tiking the ice cream from its container with « speetal scoep md piling it oo the vone,
Granny always sngpested I cal only a parm of the cone, then throw away the pointed end, beeanse
it had been touched hy the veandor’s hand {though that was the hest part, nice and crunchy. and it
was regularly caten in secrel, aller a prelence ot discarding 11}

The fout-cent pie was made by a special litle jnachine, also silvery, which pressed twa disks of
sweet hiscuil against a cvlindrical scetion of ice cream. First you had to thrust your tongne inlo
the ap between the biseuits wneil it touched the central nucleus of ice cream; then, gradually,
you ate the whale thing, the biscuit surfaces softeaing as they became soaked in creamy nectar.
Grarny had no advice ta give here: in theory the pics had been touchud only by the maching; in
practice, the vendor had held them in his hand while giving them 1 us, but it was impossible to
isulate the contrminated area.

I was fascinaled, however, by sume of my pecrs, whose parents bewght them not & [our-cenl pie
but two two-cent cones. These privileged children advanced proudly with one cone in their fight
hand and one n their left; and expertly moving their head from side to side, they licked first one,
then the other. This liturey scemed 0 me so sumpluously enviable, that many times [ asked to
he allowed to celebrate it In vain. My clders were intlexable: a four-cent ioe, yea, but two two--
cent ones, absolutely no.

As anyonhe can see, neither mathematics nor economy nor dietetlics justified this refusal. Nor did
hyeiene, assurning that in duc course the tips of both cones were discarded. The rathetic, and
obviously mendacious, justification was that a boy convemed with turnng lis eves from ome
cuite to the other was more inclined (o stumble over stomcs, steps, or cracks in the pavement. 1
dirnty senscd thal there was anather scerer justification, cruelly pedapugical, but [was unable ta
prasp il

Today, cilizen and victim of a consutier socicty, a civilizetion of exeess and wasle {which the
society of the thirties was not), 1 realize that those dear and nunw departed eldors were right. Two
pwo-cent cones mstead of one al four cents did not sigmify squandering, veonomically speaking,
but symbolically they surely did. Tt was for this precise reason, that T vearned [or them: beciause
fwo ize creams sugposted excess, And this was preciscly why they were denied to me: hecause
they Jooked indecenr, an imsull e poverty, a display of fictitious mivilege, a boest of weallh,
+ - ; r—————r
Omiy spoiled children ae two cones al t}nuumﬂwmﬁf lales were rightly
punished, as Pinocchio was when he rejected the skin and the slz'u‘kf And parents who
encouraged Ihis weakness. appropriare 1o Jitlle par emus, were hringing up their children in the
fonlish theatrs of “I'd like 1o bat 1 can’l."j{l‘hcy were prepariag (hem to wm up at tourisl-class
check-in with a fake Gueei bag bhought from a strect peddler on the beach at Rimini.

Nowadays the moralist risks sceming at odds with morality, in o world where the constmer
civilizadon now wants cven adults to be spoiled, and promises them always something mere,
from the wristwatch in the box of detergent 1o the bonus bangle sheathed, with the magasire it
accompanics, in o plastic envelope. Like the parents of those ambidaxtrous glutlons T so enviced,
the consumer civilization pretends to give more, but actually gives, for four cents, what is worth
four cents. ¥ou will theewaway the old wansistor wadio m© purchase the new one, thal beasts an
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alarm clock as well, but some mexplicable defect in the mechanism will guaranice that the radio
lasts only a year. The new cheap car will have leather seats, double side mirrers adjustable fiom
mside, and a panelled dashboard, but it will nat last nearly so long as the: glorous old Fiat 5010,
which, even when it hroke down, conld be stavied agaim with a kick,

The morality of the old days made Spartans of us all, while today’s moralily wants all of us w
be Svharites,

86. Which ol the [ullewing cannot be inferred from the passage?

(1) Teday's society i more exteavagant than the socicly of the 1930s.
(2) The act of eating two ice cream cones is akin to a ceremnomial process.
H Elders rightly sugpested that a bov tuming cyes from ons cone to the other was more likely
to fall.
() Degpite seeming to promise more, the comsumer civilization gives away exacty whal the
thing is worth.
(5) The consumer civilization atempis to speil children and adults alike.

87. In the passage, the phrase “little parvenus™ relers ws

1) nanghty midgets,
(2] old Lags.

{3) arropant people.
{4} voung upstarly.
(5} foolish kids.

88. The author pined for two lwo-cent cones instead of one four-cent pic because

(1} it made dielene sense,

(2) it suppested intemperance.
(3) 1l was more fun.

f4}irTiad a visual appeal.

(5) he was a glutton,

89. What does the author mean by “nowadays the moralist risks seeming at odds with
muorality™! :

(1) The moralists of yesterday have becoms: immoral (pday.
{2) The concept o morality has changed over the years.

(3] Consumerism s amoral,

{4) The risks associaled with immorality have gone up.

(5) The purist’s view of moralily is [ast becoming popular.

00, According to the author, the justification for refisal to let him cal two cones was plausibly

(1) didactic.
(2) distetic.

{3} dialectic,
(4) diaronic.
(3} dlinstolic.
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